QUOTE # 49-5962

May 08, 2020 02:59 AM

SALES PERSON

Bobby Slyman bobby.slyman@slymanbros.com

Slyman Bros

4900 Hampton Ave, St. Louis, MO 63109 Slyman Bros (St. Louis City) Phone: 314-352-8845

DELIVER TO

Supplement Superstore Sal Frisella sfrisella@1stphorm.com 2091 Fenton Logistics Blvd Fenton, Missouri, 63026 314-799-7900

BILLING INFORMATION

Supplement Superstore Sal Frisella sfrisella@1stphorm.com 2091 Fenton Logistics Blvd Fenton, Missouri, 63026 314-799-7900

PRODUCT	DESCRIPTION	PRICE	QTY	TOTAL
MSS25N4MKZ	25 CU FT SIDE-BY-SIDE REFRIGERATOR	\$1,100.00	8	\$8,800.00
DBC056D4BSSPR	BUILT-IN BEVERAGE CENTER	\$1,150.00	7	\$8,050.00
PEM31SFSS	1.1 CU FT 800W CT MICROWAVE	\$350.00	21	\$7,350.00
MDB4949SHZ	BUILT-IN DISHWASHER	\$500.00	6	\$3,000.00
DIM32D1BSSPR	15" UNDERCOUNTER ICE MAKER	\$1,000.00	2	\$2,000.00
				Haul Away Old: No

NOTES

BOBBY SLYMAN - 03:04 PM 05-08-2020

 $8\ \text{MSS}25\text{N4MKZ}, 2\ \text{DIM}32\text{D1BSSPR}, 7\ \text{DBC}056\text{D4BSSPR}$ These were all delivered dropped off Friday 5/8/20

Subtotals	\$29,200.00
Sales Tax (St. Louis City)	\$2,826.27
Delivery Charge	\$0.00
Total	\$32,026.27
Balance Due (USD)	\$32,026.27

PRODUCT:

MODEL: MSS25N4MKZ

APPEARANCE

- 1. Side By Side Style
- 2. FingerPrint Resistant Stainless Steel Finish
- 3. Stainless Steel Handles
- 4. Strongbox™ Door Hinges
- 5. Hidden Door Hinges
- 6. Contoured Doors
- 7. Textured Cabinet
- 8. Freestanding Design

REFRIGERATOR COMPARTMENT

- 1. BrightSeries™ LED Lighting
- 2. 2 Humidity Controlled FreshLock™ Crispers
- 3. 4 Full-Width Shelves

FREEZER COMPARTMENT

- 1. 1 Fixed Full-Width Plastic Shelf
- 2. 4 Fixed Full-Width Wire Shelves
- 3. BrightSeries™ LED Lighting

FREEZER DOOR

1. 6 Fixed Full-Width Door Bins

ADDITIONAL FEATURES

- 1. Internal Upfront Electronic Controls
- 2. Automatic Defrost
- 3. Optional Icemaker

DIMENSIONS

1. 69 5/8" H x 31 5/8" D x 35 7/8" W

ADDITIONAL DIMENSIONS

- 1. Depth including Handles 33 5/8"
- 2. Height without Hinges 68 5/8"

REFRIGERATOR DOOR

- 1. 4 Adjustable Gallon Door Bins
- 2. 1 Dairy Bin

MANUFACTURERS WARRANTY

- 1. 1 Year Limited Parts & Labor
- 2. 10 Year Limited Parts Compressor

TOTAL CAPACITY

1. 24.9 CU FT

REFRIGERATOR CAPACITY

1. 15.32 CU FT

FREEZER CAPACITY

1. 9.61 CU FT

PRODUCT:

MODEL: DBC056D4BSSPR

DIMENSIONS

1. 34 7/16" H x 25 9/16" D x 23 13/16" W

MANUFACTURERS WARRANTY

1. 2 Year Parts and Labor - With In-Home Service

PRODUCT:

MODEL: PEM31SFSS

APPEARANCE

- 1. Countertop, Under Cabinet, or Built-In Design
- 2. Push Button Open Handle
- 3. Gray Cabinet with Stainless Door
- 4. Oven Window

CAPACITY

1. 1.1 Cu. Ft. Capacity

CONTROLS

- 1. Cancel / Off Pad
- 2. Electronic Touch Controls with Clock
- 3. Start / Pause Pad
- 4. Timer (On/Off)

OVEN FEATURES

- 1. 10 5/8" Glass Turntable
- 2. 10 Power Levels
- 3. 800W Microwave
- 4. Sensor Beverage Pad
- 5. Sensor Popcorn Pad
- 6. Sensor Potatoes Pad
- 7. Sensor Reheat Pad
- 8. Sensor Vegetables Pad
- 9. Timed Defrost or Weight Defrost
- 10. Express Cook 1-6 Minutes

CONVENIENCE FEATURES

- 1. Cooking Guide Label
- 2. Add 30 Seconds Option
- 3. Control Lock

ADDITIONAL FEATURES

1. Optional 27" Built-In Kit

MANUFACTURERS WARRANTY

1. 1 Year Limited Parts and Labor

DIMENSIONS

1. 12 1/8" H x 12 7/8" D x 24" W

PRODUCT:

MODEL: MDB4949SHZ

APPEARANCE

- 1. Built-In Design
- 2. Flat Door Styling
- 3. Pocket Handle
- 4. True Hold Door
- 5. Stainless Steel Tall Tub
- 6. Fingerprint Resistant Stainless Steel Finish
- 7. Black Toe Kick

CONTROLS

- 1. End-of-Cycle Indicator
- 2. Automatic Temperature Control
- 3. Front Electronic Tap Touch Controls

WASHING SYSTEM

- 1. 4-Blade Stainless Steel Chopper
- 2. PowerBlast® Cycle
- 3. Heated Dry Option
- 4. Steam Sanitize Option
- 5. 5 Wash Levels
- 6. 3 Wash Arms
- 7. 6 Wash Cycles

RACKS AND BASKETS

- 1. DuraGuard® Rack Finish
- 2. 2 Nylon Racks
- 3. Cushion-Tip Tines
- 4. Upper Rack 1-Plastic Cup Shelf
- 5. Upper Rack 4-Stemware Holders
- 6. Extended Style Lower Rack
- 7. Tiered Upper Rack

CONVENIENCE FEATURES

- 1. Detergent & Rinse Aid Dispenser
- 2. Rinse Aid Dispenser Level Indicator
- 3. Star K Compliant

ADDITIONAL FEATURES

- 1. Water Filtration
- 2. Twice the Life Motor

ENERGY/SOUND/POWER

- 1. 50 dBA Sound
- 2. Energy Star® Certified
- 3. CEE Tier I

DIMENSIONS

1. 33 1/2 - 34 1/2" H x 24 1/2" D x 24" W

ADDITIONAL DIMENSIONS

1. 24" Built In Dishwasher

MANUFACTURERS WARRANTY

1. 10 Year Limited- Racks, Tub, Chopper

PRODUCT:

MODEL : DIM32D1BSSPR

DIMENSIONS

1. 34.45" H x 24.09" D x 14.96" W

MANUFACTURERS WARRANTY

1. 2 Year Parts and Labor